MATH 1113 PRACTICE TEST 3 ANSWERS, FALL 2013

1.  Simplify 
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2.  Simplify 
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3.  Simplify 
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4.  Simplify  
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5. Establish the identity 
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6. Establish the identity 
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7.  Find all solutions in the interval [0, 360°)

(a)  
[image: image13.wmf]1
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The cosine is negative in QII and QIII and we know 
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so use the following picture for the solutions
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The angle must be measured counterclockwise from the positive x-axis and be less then one full circle, so 
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 (b)  
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The sine is positive in QI and QII and we know 
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so use the following picture for the solutions
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The angle must be measured counterclockwise from the positive x-axis and be less then one full circle, so 
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(c)  
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First use the identity 
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Now solve for cos x as you would solve a quadratic equation
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cos x = 2 has no solution

We know
[image: image27.wmf]cos0
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 for angles with terminal side on the y-axis
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8.  Solve 
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The cosine is positive in QI and QIV and we know 
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cos30
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so use the following picture for the solutions for 4x.  (Since we are finding all solutions we may measure the angles any way we choose.  For instance we could use 30( and 330(.)  We also need to add multiples of 360( to these solutions
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9. Using sum or difference formulas find exact values without using a calculator.

(a)   tan 15°


(b)  sin 105°


(c)  cos 75°


10.  Write as the sine or cosine of an angle

(a) cos 60° cos 20° + sin60° sin20°

(b)  sin 37° cos 13° ( cos 37° sin 13°

Use 
[image: image31.wmf]cos()coscossinsin
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Use 
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11.  Evaluate 
[image: image35.wmf]11
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Use the following pictures for u and v:
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12.  Find all solutions in the interval [0, 360°): 
[image: image40.wmf]sin2sin0
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From a unit circle diagram:  
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13.  Find the exact value of 
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14.  Use a half angle formula to find cos 105°

Use 
[image: image47.wmf]1cos
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Questions 9 – 11 use the following figure

15.  Solve the triangle if 
[image: image50.wmf]28.6,79.3and12.3
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  Round answers to three decimal places.






First find B:   
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B

+°+°=°





      
[image: image52.wmf]72.1

B

=°


Now use the law of sines to find a:  
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Now use the law of sines to find c:  
[image: image55.wmf]sinsin

bc

BC

=







                 
[image: image56.wmf]12.3

sin72.1sin79.3

sin72.112.3sin79.3

12.3sin79.3

sin72.1

12.701

c

a

c

c

=

°°

°=°

°

=

°

=


16.  Solve the triangle if 
[image: image57.wmf]30,8and12
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  Round answers to three decimal places.

Note that this is the ambiguous case, so we will find the height of the triangle to determine how 


many solutions.




Find h:   
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Because 
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Find B  using 
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One solution is 
[image: image63.wmf]1
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.  Note that to ensure accuracy use three more decimal places in calculations than you use in answers.

The picture is for B is:





The two possible solutions are:



[image: image64.wmf]48.59

B

=°
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Find C:  
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Find c using 
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11.  Find the area of the triangle if 
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Use 
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Questions 18 – 20 use the following figure





18.  Solve the triangle if 
[image: image74.wmf]7,12and15
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  Round answers to three decimal places.

First find the angle opposite the longest side (c) using
[image: image75.wmf]222
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Now find A (or B) using the law of sines 
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Finally 
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19.  Solve the triangle if 
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  Round answers to three decimal places.

Find a using 
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Now find B using the law of sines.  Note that you do not find C because C is opposite the longest side and may be more than 90°.
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Finally 
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20.  Find the area of the triangle if 
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.  Use Heron’s formula.
Area = 
[image: image88.wmf]()()()

ssasbsc

---

, where 
[image: image89.wmf]2

abc

s

++

=




       
[image: image90.wmf]567

9

2

s

++

==



[image: image91.wmf]Area9(95)(96)(97)

216

14.697

=---

=

=


� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





C





b





a





B





c





AC





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���





13





5





5





3





v





u





12





4





a





b





c





B





C





AC





C





a





79.3(





12.33





28.6(





c





AC





B





C





h





8





12





30(





B





A





c





� EMBED Equation.DSMT4  ���





� EMBED Equation.DSMT4  ���








_1318101235.unknown

_1318105751.unknown

_1443859002.unknown

_1443859010.unknown

_1443860461.unknown

_1443860714.unknown

_1443861429.unknown

_1443861480.unknown

_1443860843.unknown

_1443860544.unknown

_1443859014.unknown

_1443859016.unknown

_1443859017.unknown

_1443859018.unknown

_1443859015.unknown

_1443859012.unknown

_1443859013.unknown

_1443859011.unknown

_1443859006.unknown

_1443859008.unknown

_1443859009.unknown

_1443859007.unknown

_1443859004.unknown

_1443859005.unknown

_1443859003.unknown

_1393314012.unknown

_1393314196.unknown

_1443859001.unknown

_1393314099.unknown

_1393313869.unknown

_1393313886.unknown

_1318105956.unknown

_1318106023.unknown

_1318105888.unknown

_1318104080.unknown

_1318104269.unknown

_1318105015.unknown

_1318105685.unknown

_1318104283.unknown

_1318104158.unknown

_1318104257.unknown

_1318104118.unknown

_1318101782.unknown

_1318102933.unknown

_1318103790.unknown

_1318103991.unknown

_1318103662.unknown

_1318103063.unknown

_1318102216.unknown

_1318102315.unknown

_1318102269.unknown

_1318101914.unknown

_1318101566.unknown

_1318101594.unknown

_1318101524.unknown

_1318096693.unknown

_1318100720.unknown

_1318100958.unknown

_1318101161.unknown

_1318101184.unknown

_1318101149.unknown

_1318100825.unknown

_1318100842.unknown

_1318100755.unknown

_1318097960.unknown

_1318099109.unknown

_1318099759.unknown

_1318100105.unknown

_1318100554.unknown

_1318100573.unknown

_1318100144.unknown

_1318099831.unknown

_1318099672.unknown

_1318098258.unknown

_1318098693.unknown

_1318098718.unknown

_1318098486.unknown

_1318098051.unknown

_1318097147.unknown

_1318097428.unknown

_1318097918.unknown

_1318097361.unknown

_1318097106.unknown

_1318079792.unknown

_1318080344.unknown

_1318081003.unknown

_1318081224.unknown

_1318096584.unknown

_1318081223.unknown

_1318080357.unknown

_1318080206.unknown

_1318080305.unknown

_1318079866.unknown

_1315686862.unknown

_1315687095.unknown

_1318079737.unknown

_1315686953.unknown

_1315685904.unknown

_1315686801.unknown

_1315685850.unknown

